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MIDTERM PAPER (04-06-16)
MTH501 (Linear Algebra)
Created by “Bint Ë Hawa”

Total marks 40
Objective: 20 marks (20 Mcq’s)
Subjective: 20 marks (6 Questions)
ALL THE BEST!
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I and then which of the following is true?

(RN
is linearly dependent.

JERS)
is linearly independent.

The vector equation has trivial solution.
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1t 4 be the standard matrix of linear transformation 1 ‘X %

R,

. then which of the
”
following is true for the mapping from X onto

The columns of 4 span X

The columns of 4 span X"

The columns of ! are linearly independent.

The columns of ! are identical.
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Since every linear transformation is actually a matrix transformation , then

which of the following is the alternate notation for the transformation 7
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¥ T be atransformation , then which of the following is true for its linearity 7

T(cii gd¥)=c T(h) gd T(H)

: where 7 and <% are scalars
T(chi+d¥)=c T +d T(h
¢ IZETIHATO) e and € arescaas
T(ctix db)y=c TG xd TG
¢ PZET@XATE e € and 9 are scaars

T(cii+d¥)=d TG +c T(H)

where *€” are scalars
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Which of the following is the most appropriate operation(s) for the linear transformation
?

Scalar multiplication

Vector addition and scalar multiplication

Vector addition

Vector and scalar multiplications
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. then which of the following is true for 4 and

B is the multiplicative inverse of 4.
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Which of the following is true for the matrix 7

It is a null matrix.

Itis a scalar matrix.

Itis a diagonal matrix.

It is an identity matrix.
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What is the maximum possible mumber of pivotsin a %5

‘matrix 7

confirm it !
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and factorization of 4 is LU then which of the following pair of equations

k=5 i
can be used to solve for value of *** 7
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If a system of equations is solved using the Ganss-Scidel method , then which of the
following is NOT true about the matrix */ that is derived from the cocfficient marix ?

All of its entries below the diagonal must be zero

All of its entries above the diagonal must be zero

Its determinant is non-zero

It is an invertible matrix
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,then which of the following is true for the matrix ?

confirm it !

det()=k-1

det(4) =k+1
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i3 . then which of the following is true for < ?

det()=-1
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I the determinant of the matrix is ~1 and the matrix B is obtained by
adding 2 times of the second row in the first row of the matrix <!, then which of the

Its determinantis ~1 .

Its determinant can not be evaluated .

The information is not sufficient to calculate the determinant .
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If the determinant of the matrix is 32 and the matrix B is obtained by

multiplying any row of “ with an integer value 4 | then which of the following is true

Its determinantis 1 .

-32
Its determinantis .

Its determinantis 125 .

The information is not sufficient to calculate the determinant .
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2x2
Construct partitions of the following matrix into three blocks :

123413
345634
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Show that the transformation defined by
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Findan LU~ decomposition of the matrix .
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, then make a partition of

PN

so that 4B must be possible.
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?

Which of the following is the simplified form of

B
E
5o
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? cxistsif and only if  can be written as a linear combination of

The solution of %=
of A

both columns and rows
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. span &’ then which of the following is
b=(n.b.B)eR

true for any arbitrary

0.1.D=k. b. 5) +Kk(2.2. D +4(0. 0. 3)

(G 0y, 2) =R (2. 2. ) +/50.0.3)+50. 1. )

0.0.3)=k2. 2. D +hk(b. by, 5)+ 0. 1. 1)
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If a homogencous system “¥ = has a trivial solution, then which of the following is
(are) the value(s) of the vector *?





